
  

APRIL 2021                                      60535/BYB4A/CYB4A 

Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks) 

Answer any TEN questions. 

1. Write any two properties of co-efficient of correlation. 

 Ehß öuõhº¦U öPÊÂß H÷uÝ® Cμsk £s¦PøÍ GÊxP. 

2. What is scatter diagram? 

 ]uÓÀ ÂÍUP¨£h® GßÓõÀ GßÚ? 

3. What are regression equations? 

 öuõhº¦¨÷£õUSa \©ß£õkPÒ  ¯õøÁ? 

4. List out the components of Time series. 

 Põ»® \õº Á›ø\°ß EÒÍhUP[PøÍ £mi¯¼kP. 

5. What do you mean by seasonal indices? 

 £¸ÁPõ» ©õÖuÀ SÔ±kPøÍ £ØÔ }Âº AÔöÁöußÚ? 

6. Write any two problems in the construction of index number. 

 SÔ±mk GsPøÍ Aø©¨£vÀ EÒÍ H÷uÝ® Cμsk ]UPÀPøÍ 

GÊxP. 

7. Define interpolation. 

 EÒÎøh ö\¸PÀ Áøμ¯Ö. 

8. Find out correlation co-efficient of the following : 

 15N  01.3x  03.3y      122 YYXX . 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x JmkÓÄU öPÊ Psk¤i 

 15N  01.3x  03.3y      122 YYXX . 

9. Co - efficient of correlation between two variates X and Y is 0.48. 
Their covariance is 36. The variance of X is 16, find the standard 
deviation of Y series. 

 X ©ØÖ® Y  GßÓ Cμsk ©õÔ¼PÎß JmkÓÄ öPÊ •øÓ÷¯ 0.48 

BS®. Auß Cøn ©õÔ¼ 36 AS®. X  ß •μs 16. Y Á›ø\°ß 

vmhÂ»UPzøu PõsP. 
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10. Find rank correlation  
X: 2 4 3 5 1

Y : 1 3 4 5 2

 uμÁ›ø\ JmkÓÄ PnUQkP. 

X: 2 4 3 5 1

Y : 1 3 4 5 2

11. Write the Fishers ideal index and Bowley’s methods formulas for 
calculating index numbers. 

 ¤å›ß {ø» SÔ±mk Gs ©ØÖ® ö£Í¼°ß SÔ±mk Gsøn 

PnUQk® `zvμzøu GÊxP. 

12. X - chart - Explain. 

 X –ÂÍUP¨£h® ÂÍUSP. 

SECTION B — (5  5 = 25 marks) 

 Answer any FIVE questions. 

13. Calculate Spearman’s rank correlation co-efficient from the 
following data : 

X : 52 63 45 36 72 65 47 25

Y: 62 53 51 25 79 43 60 33

 RÌUPõq® uPÁÀPÎ¼¸¢x ì¤¯ºö©Ûß uμÁ›ø\ JmkÓÄ 

öPÊÂøÚ PnUQkP. 

X : 52 63 45 36 72 65 47 25

Y: 62 53 51 25 79 43 60 33

14. Distinguish between correlation and regression. 

 JmkÓÂ¼¸¢x öuõhº¦ ÷£õUQøÚ ÷ÁÖ¨£kzxP. 

15. Construct a three year moving average from the following data : 

Year : 1996 1997 1998 1999 2000 2001 2002 

Value : 50 46 42 49 52 40 54 

 RÌUPõq® ÂÁμ[PÐUS ‰ßÖ Bsk |P¸® \μõ\›ø¯ Aø©UP. 

Á¸h®: 1996 1997 1998 1999 2000 2001 2002 

©v¨¦: 50 46 42 49 52 40 54 
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16. Compute Fisher’s ideal index from the following data : 
 1998 1999 

Commodity Price Qty. Price Qty.

A 4 40 5 50 

B 8 64 9 80 

C 10 70 10 70 

D 2 10 4 16 

 RÌUPõq® ÂÁμ[PÐUS ¤å›ß {ø» SÔ±k Gsøn Psk¤i. 

 1998 1999 
ö£õ¸mPÒ Âø» AÍÄ Âø» AÍÄ

A 4 40 5 50 
B 8 64 9 80 
C 10 70 10 70 
D 2 10 4 16 

17. Interpolate the production for 1992 from the data given below : 
 Year  Production (thousand units)

 1988  100 

 1990  112 

 1994  136 

 1996  180 

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x EÒÎøh ö\¸PÀ 

•øÓ°À 1992–ß EØ£zvø¯ PnUQkP. 

 Á¸h®  EØ£zv (B°μ® A»SPÎÀ)

 1988  100 

 1990  112 

 1994  136 

 1996  180 

18. Extrapolate the profit for the year 2008 from the following data  
 Year  Profits (‘000)

 2003  31 

 2004  42 

 2005  51 

 2006  65 

 2007  80 
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 RÌUPõq® ÂÁμ[PøÍU öPõsk öÁÎ°øha ö\¸PÀ ]øÓ°À 

2008–® BskUPõÚ C»õ£zøu PnUQkP. 

 Á¸h®  C»õ£® (‘000)

 2003  31 

 2004  42 

 2005  51 

 2006  65 

 2007  80 

19. During an examination of equal length of cloth, the following are 
the number of defects observed: 

 2, 3, 4, 0, 5, 6, 7, 4, 3, 2 

 Draw a control chart for the no. of defects and comment on 

whether process is under control (or) not? 

 \© }Í•ÒÍ xo ÁøPPøÍ B´Ä ö\´²® ÷£õx RÌUPõq® 

AÍÄPÎÀ SøÓ£õkPÒ PshÔ¯¨£mhx. 

 2, 3, 4, 0, 5, 6, 7, 4, 3, 2 

 SøÓ£õkPÒ EÒÍ AÍÄPÐUS›¯ Pmk£õk Áøμ¨£hzvøÚ 

ÁøμP. ÷©¾® A¢u ÁÈ•øÓ Pmk¨£õmiÀ EÒÍuõ AÀ»x 

CÀø»¯õ GÚ P¸zxøμUP. 

SECTION C — (3  10 = 30 marks) 

                           Answer any THREE questions. 

20. Calculate Karl Pearson’s co-efficient of correlation for the 

following data and interpret its value 

X : 105 111 104 112 118 98 116 103 116 112 

Y : 62 64 53 60 72 56 68 60 69 65 

 RÌUPõq® ¦ÒÎ ÂÁμ[PøÍ £¯ß£kzv PõºÀ ¤¯º\Ûß JmkÓÄ 

öPÊÂøÚU Psk¤izx Auß ©v¨ø£ P¸zxøμUP. 

X : 105 111 104 112 118 98 116 103 116 112 

Y : 62 64 53 60 72 56 68 60 69 65 
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21. Calculate (a) the regression equation of X on Y and Y on X from 
the following data and (b) estimate X when Y is 20 : 

X : 10 12 13 17 18

Y: 5 6 7 9 13

 X ß «x Y ©ØÖ® Y–ß «x X ß ÷|º÷Põk öuõhº¦ ÷£õUøP 

RÌUPõq® ÂÁμ[PøÍU öPõsk PnUQkP.  ÷©¾® X ß ©v¨ø£ 
Y– 20 BP C¸US® ÷£õx PnUQkP. 

X : 10 12 13 17 18

Y: 5 6 7 9 13

22. The following are annual profits in thousands of rupees in a 
certain business : 

Year : 1990 1991 1992 1993 

Profits in thousands of rupees : 60 72 75 65 

Year : 1994 1995 1996  

Profits in thousands of rupees : 80 85 95  

 Use the method of least squares to fit a straight line to the above 
data. Also make an estimate of profits in 1997. 

 J¸ Â¯õ£õμzvß Á¸h C»õ£[PÒ B°μ® ¹£õ´PÎÀ 

RÌÁ¸©õÖ. 

Á¸h®: 1990 1991 1992 1993

C»õ£® (B°μ[PÎÀ): 60 72 75 65 

Á¸h®: 1994 1995 1996  

C»õ£® (B°μ[PÎÀ): 80 85 95  

 ÷©÷» EÒÍ ÂÁμ[PÐUS SøÓ¢u ÁºUP •øÓ°À ÷|º÷Põmøh 

Aø©UPÄ®. ÷©¾® 1997 ß C»õ£zøu ©v¨¤kP. 

23. A textile worker in the city of Mumbai earns Rs. 3,500 per 
month. The cost of living index for a particular month is given as 
136. Using the following information, find out the amount of 
money he spent on house rent and clothing. 

Group Expenditure Rs. Group Index

Food  1,400 180 

Clothing ? 150 

House rent ? 100 

Fuel and lighting 560 110 

Miscellaneous 630 80 
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 •®ø£°À  J¸  Po {ÖÁÚzvß FÈ¯º J¸Á›ß ©õu Á¸©õÚ® 

¹. 3,500. ÁõÌUøP ö\»Ä SÔ±mk Gs A¢u ©õuzvØS 136 GÚU 

öPõkUP¨£mkÒÍx. RÌUPõq® ÂÁμ[PøÍU öPõsk, Ãmk  

ÁõhøP  ©ØÖ® BøhPÐ® AÁº ö\´²® ö\»øÁU PnUQkP. 

ÁøP ö\»ÄPÒ ¹. SÊ SÔ±mk Gs 

EnÄ 1,400 180 

Tøh ? 150 

Ãmk ÁõhøP ? 100 

G›ö£õ¸Ò ©ØÖ® JÎ 560 110 

Cuμ 630 80 

24. From the following data estimate the number of persons earning 
wages between Rs. 60 and Rs. 70 

Wages (in Rs.) No. of persons (in ‘000)

Below 40 250 

40 -60 120 

60 - 80 100 

80 -100 70 

100 - 120 50 

 RÌUPõq® ÂÁμ[PøÍ £¯ß£kzv ¹.60 US® ¹.70 US® 

Cøh¨£mh T¼ ö£Ö® öuõÈ»õÍºPÎß GsoUøP PnUQkP. 

T¼ (¹) öuõÈ»õÍºPÎß GsoUøP ‘000) 

40 US R÷Ç 250 

40 •uÀ 60 Áøμ 120 

60 •uÀ 80 Áøμ 100 

80 •uÀ 100 Áøμ 70 

100 •uÀ 120 Áøμ 50 

 

—————— 


